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28. Sievenni lausekkeet.

a) 3x° - 2x° b) —3x(4x* + 3x — 5)
a) 3x -2x° =3-2-x"" = 6x°
b) 3%’ (4x* +3x—5) = -3%x" 4%’ +(-3%’) - 3x+(-3%’) - (-5)

=-3.4-x"" +(=3)-3-x’" +(=3)-(-5)-X’
=—12%" - 9x* +15%’

29, Sievennai.
a) 2x - 3x% - 7x° b) —4x? - 2x - 5x°

1,
c) —6x° - x - (—3x%) d) gx“ 6x-2x?%

a) 2X-3x°-7x° =2-3-7-x7" =42%°

b) —4x°-2%-5x° =—4-2.5.x"" = —40%°

¢) —6%°-X-(=3x°)=—6-1-(=3)-x""""* =18x"
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30. Sievenna.
a) 5x(x* — 6x+2) b) —x%(6x* — 3x — 2)

)2 —x+1) (=3xY d) %.ﬁc?’(élx2 —6x+2)

a) 5X(x* —6X+2) =5%-X* +5%X-(—6%) +5x-2
=5-1-X"7 +5-(-6)- X" +5-2-X
=5%" —30x° +10x
b) —x* (6% —3X—2)=—X"-6X" +(—X)-(=3X) +(-x")-(-2)

=—1-6-X"7 +(=1)-(-3)-x*" +(=1)-(-2)- X
=—6x" +3x° +2%°

¢) 2%’ —=x+1)-(-3x") =2%° - (-3x") + (=%) - (-3x*) +1-(-3x")
=2-(-3)- X" +(=1)-(=3)-x"* +1-(-3)-x*
=—6x" +3x” -3x*

d) l)(3(4)(2 —6X+2) Llpapily -(—(‘:}x)+l:«c3 2

2 2 2 2

:1-4«3{“2 +l-(—6)-x3+1 +%-2-x3

=2%x"-3x" +x°
31. Sievenna.
a) 1x3-2x-3x2 b)3 J‘[lxz—zxﬂ-l]
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32. Laske.
a) (2x + 3)(4x +5) b) (2 — x)(5x% + 3x — 2)
¢) (3x —4)° d) 2x—6)(2x +6)
N
a) (2X+3)(4x+5)=2X-4Xx+2X-5+3-4x+3-5
= - -

=8x* +10X+12x+15
=8%* +22x+15
b) (2-X)(5%” +3x—-2)
=2.5%"+2-3X+ 2 (-2)+ (=X) - 5% +(=X) - 3X +(—X) - (-2)
=10x" +6x—4—-5x" —3x" +2x
=5 +7x* +8x—4
C) (3){—4)2 =(3x—-4)(3x—-4)
=3X-3X+3X-(-4)+(-4)-3x+(—4)-(—4)
=9x* —12x—12x+16

=90x’ —24x+16
33. Laske.
a) (3x + 2)(4 + 6x) b) (x°+3)2x+ 1)
¢) 2x—7)(1+x) d) (x* = 2)(x* - 5)

a) 3X+2)(4+6X)=3X-44+3X-6X+2-44+2-6X
=12X+18%* +8+12x%
=18%x" +24x+8

b) (X" +3)2x+D)=x"-2X+x"-1+3-2x+3:1
=2X’ + X" +6X+3
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c) 2x=T7)(1+X)=2X-14+2X-X4+(-7)-1+(-7)-X
=2X+2x* —-7-7X
=2%"-5x-7

d) (x> =2)(x*=5)=x"-x* +X* - (=5) +(-2) - X’ +(=2)-(-5)
=x"-5x" -2x" +10

=x'=7x"+10
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